Vs (TeV) Ratio Rexp Tot. exp. unc. Rgy

5.02 [none-none-none-none-none]  Ryy+ yy—  1.6232 £ 0.0026 (stat) + 0.0065 (syst) 0.43% 1.631 £ 0.98%
8[222] Ry+w—- 140 =+0.01(stat) & 0.02 (syst) 1.6% 1.42 +1.4%
13 [none-none-none-none-none] Ry+,w- 1.3159+0.0017 (stat) £ 0.0053 (syst) ~ 0.43% 1.307 £ 1.3%
5.02 [none-none-none-none-none] Ry ,z 12.505 £ 0.037 (stat) & 0.032 (syst) 0.39% 12.51 £ 0.96%
8 [222] Rw,z 13.26 £ 0.15 (stat) 4= 0.21 (syst) 1.9% 13.49 +2.1%
13 [none-none-none-none-none] Rw,z 12.078+0.028 (stat) & 0.032 (syst) 0.35% 12.02 £2.3%



